

ON $H_3(1)$ HANKEL DETERMINANT FOR UNIVALENT FUNCTIONS
DEFINED BY USING q -DERIVATIVE OPERATOR

ZELIHA KARAHUSEYIN, ŞAHSENE ALTINKAYA, AND SIBEL YALÇIN

ABSTRACT. In this work, we introduce a new subclass of univalent functions defined by using q -derivative operator. Moreover, for functions belonging to this class, we establish third Hankel determinant denoted by $H_3(1)$.

1. INTRODUCTION, NOTATIONS AND DEFINITIONS

Let A represent the class of functions of the form:

$$f(z) = z + \sum_{n=2}^{\infty} a_n z^n, \quad (1)$$

which are analytic in the open unit disk

$$E = \{z : z \in \mathbb{C} \text{ and } |z| < 1\}.$$

Also let S be the subclass of A consisting of the form (1) which are also univalent in E .

Let f be given by (1). Then $f \in R$ if it satisfies the inequality

$$\Re(f'(z)) > 0, \quad z \in E.$$

The subclass R was studied systematically by MacGregor [8] who indeed referred to numerous earlier investigations involving functions whose derivative has a positive real part.

In the field of Geometric Function Theory, various subclasses of analytic functions have been studied from different viewpoints. The fractional q -calculus is the important tools that are used to investigate subclasses of analytic functions. For example, the extension of the theory of univalent functions can be described by using the theory of q -calculus. Historically speaking, a firm footing of the usage of the q -calculus in the context of Geometric Function Theory was actually provided and the basic (or q -) hypergeometric functions were first used in Geometric Function Theory in a book chapter by Srivastava (see, for details, [14]). In fact, the theory of univalent functions can be described by using the theory of the q -calculus. Moreover, such q -calculus operators as the fractional q -integral and fractional q -derivative operators, are used to construct several subclasses of analytic functions (see, for example, [1], [6], [11], [15]). In a recent paper Purohit and Raina [13], investigated applications of fractional q -calculus operators to defined certain new classes of functions which are analytic in the open disk. Later, Mohammed and Darus [9] studied approximation and geometric properties of these q -operators in some subclasses of analytic functions in compact disk.

For the convenience, we provide some basic definitions and concept details of q -calculus which are used in this paper. We suppose throughout the paper that $0 < q < 1$. We shall

2010 *Mathematics Subject Classification.* 30C45, 05A30, 30C50, 33D15.

Key words and phrases. Univalent functions, Hankel determinant, q -derivative.

follow the notation and terminology in [3]. We recall the definitions of fractional q -calculus operators of complex valued function $f(z)$.

Definition 1. Let $q \in (0, 1)$ and define

$$[n]_q = \frac{1 - q^n}{1 - q},$$

for $n \in \mathbb{N} = \{1, 2, 3, \dots\}$.

Definition 2. Let $q \in (0, 1)$ and define the q -fractional $[n]_q!$ by

$$[n]_q! = \begin{cases} \prod_{k=1}^n [k]_q, & n = 1, 2, \dots \\ 1, & n = 0 \end{cases}$$

for $n \in \mathbb{N}$.

Definition 3. For $\alpha \in \mathbb{C}$, the q -shifted factorial is defined as a product of $n \in \mathbb{N}_0 = \{0, 1, \dots\}$ factors by

$$(\alpha; q)_0 = 1, \quad (\alpha; q)_n = \prod_{i=0}^{n-1} (1 - \alpha q^i), \quad (\alpha; q)_\infty = \prod_{i=0}^{\infty} (1 - \alpha q^i).$$

Definition 4. (see [5]) The q -derivative of a function f is defined on a subset of \mathbb{C} is given by

$$(D_q f)(z) = \frac{f(z) - f(qz)}{(1 - q)z}, \quad \text{if } z \neq 0, \quad (2)$$

and $(D_q f)(0) = f'(0)$ provided $f'(0)$ exists.

Note that

$$\lim_{q \rightarrow 1^-} (D_q f)(z) = \lim_{q \rightarrow 1^-} \frac{f(z) - f(qz)}{(1 - q)z} = \frac{df(z)}{dz}$$

if f is differentiable. From (2), we deduce that

$$(D_q f)(z) = 1 + \sum_{n=2}^{\infty} [n]_q a_n z^{n-1}. \quad (3)$$

Definition 5. A function $f \in A$ is said to be in the class $R(q)$, if the following condition holds

$$\Re((D_q f)(z)) > 0, \quad z \in E.$$

We note that

$$\lim_{q \rightarrow 1^-} R(q) = \left\{ f \in A : \lim_{q \rightarrow 1^-} \Re((D_q f)(z)) > 0, \quad z \in E \right\} = R.$$

Definition 6. (see [2]) Let λ be a nonnegative real number. Then for integers $n \geq 1$ and $t \geq 1$, we define the t -th Hankel determinants with Fekete-Szegö parameter λ , that is $H_t^\lambda(n)$, as

$$H_t^\lambda(n) = \begin{vmatrix} a_n & a_{n+1} & \cdots & \lambda a_{n+t-1} \\ a_{n+1} & \cdots & \cdots & \vdots \\ \vdots & \vdots & \vdots & \vdots \\ a_{n+t-1} & \cdots & \cdots & a_{n+2(t-1)} \end{vmatrix}.$$

The well known Hankel determinant is the case $\lambda = 1$. In 1976, Noonan and Thomas [10] defined the $H_t(n)$ Hankel determinant. We also defined other similar determinant as:

Definition 7. (see [2]) Let λ be a nonnegative real number. Then for integers $n \geq 1$ and $t \geq 1$, we define the $B_t^\lambda(n)$ determinant as

$$B_t^\lambda(n) = \begin{vmatrix} a_n & a_{n+1} & \cdots & a_{n+t-1} \\ a_{n+t} & a_{n+t+1} & \cdots & a_{n+2t-1} \\ a_{n+2t} & a_{n+2t+1} & \cdots & a_{n+3t-1} \\ \vdots & \vdots & \vdots & \vdots \\ a_{n+t(t-1)} & \cdots & \cdots & \lambda a_{n+t^2-1} \end{vmatrix}$$

In this paper, we further extend these definitions to include finitely many Fekete-Szegő parameters $\lambda_j, j = 1, 2, \dots$ in order to accomodate a wide variety of emerging functionals in the study of coefficients of mappings of the unit disk. Now we say:

Definition 8. (see [2]) Let $\lambda_i, i = 1, 2, \dots, t$ be nonnegative real numbers. Then for integers $n \geq 1$ and $t \geq 1$, we define the t -th Hankel determinants with Fekete-Szegő parameter λ_i , that is $H_t^{\lambda_1, \lambda_2, \dots, \lambda_t}(n)$, as

$$H_t^{\lambda_1, \lambda_2, \dots, \lambda_t}(n) = \begin{vmatrix} \lambda_1 a_n & \lambda_2 a_{n+1} & \cdots & \lambda_t a_{n+t-1} \\ a_{n+1} & \cdots & \cdots & \vdots \\ \vdots & \vdots & \vdots & \vdots \\ a_{n+t-1} & \cdots & \cdots & a_{n+2(t-1)} \end{vmatrix}$$

and we also say:

Definition 9. (see [2]) Let $\lambda_j, j = 1, 2, \dots, n$ be nonnegative real numbers. Then for integers $n \geq 1$ and $t \geq 1$, we define the $B_t^{\lambda_1, \lambda_2, \dots, \lambda_n}(n)$ determinants as

$$B_t^{\lambda_1, \lambda_2, \dots, \lambda_n}(n) = \begin{vmatrix} a_n & a_{n+1} & \cdots & \lambda_1 a_{n+t-1} \\ a_{n+t} & a_{n+t+1} & \cdots & \lambda_2 a_{n+2t-1} \\ a_{n+2t} & a_{n+2t+1} & \cdots & \lambda_3 a_{n+3t-1} \\ \vdots & \vdots & \vdots & \vdots \\ a_{n+t(t-1)} & \cdots & \cdots & \lambda_n a_{n+t^2-1} \end{vmatrix}.$$

For $\lambda_j = 1, j = 1, 2, \dots, (t-1)(n-1)$, we simply write $H_t^\lambda(n)$ and $B_t^\lambda(n)$ in place of $H_t^{\lambda_1, \lambda_2, \dots, \lambda_n}(n)$ and $B_t^{\lambda_1, \lambda_2, \dots, \lambda_n}(n)$ respectively, and we quickly note that for real numbers, γ, α and β we have:

$$H_2^\gamma(1) = \begin{vmatrix} 1 & \gamma a_2 \\ a_2 & a_3 \end{vmatrix} = a_3 - \gamma a_2^2,$$

$$H_2^\alpha(2) = \begin{vmatrix} a_2 & \alpha a_3 \\ a_3 & a_4 \end{vmatrix} = a_2 a_4 - \alpha a_3^2$$

and

$$B_2^\beta(1) = \begin{vmatrix} 1 & a_2 \\ a_3 & \beta a_4 \end{vmatrix} = a_2 a_3 - \beta a_4.$$

In this paper, we get upper bound for the functional

$$|H_3(1)| \leq |a_3| |a_2 a_4 - a_3^2| + |a_4| |a_2 a_3 - a_4| + |a_5| |a_3 - a_2^2|$$

for functions f belongs to the class $R(q)$.

We first state some preliminary lemmas which shall be used in our proof.

2. PRELIMINARY LEMMAS

Let P be the family of functions p analytic in E for which $\Re(p(z)) > 0$ and

$$p(z) = 1 + c_1z + c_2z^2 + c_3z^3 + \cdots,$$

for $z \in E$.

Lemma 1. [12] *If $p \in P$ then $|c_n| \leq 2$ for each n ($n \in \mathbb{N}$).*

Lemma 2. [4] *If $p \in P$ then*

$$2c_2 = c_1^2 + x(4 - c_1^2)$$

$$4c_3 = c_1^3 + 2(4 - c_1^2)c_1x - c_1(4 - c_1^2)x^2 + 2(4 - c_1^2)(1 - |x|^2)z$$

for some x, z with $|x| \leq 1$ and $|z| \leq 1$.

Lemma 3. (see [7]) *If $p \in P$, then*

$$|c_2 - vc_1^2| \leq \begin{cases} -4v + 2; & \text{if } v \leq 0 \\ 2; & \text{if } 0 \leq v \leq 1 \\ 4v - 2; & \text{if } v \geq 1 \end{cases}.$$

3. MAIN RESULTS

Thus we shall in this paper obtain the best possible bounds on $H_2^\gamma(1)$ and $B_2^\beta(1)$ to conclude our investigation.

Theorem 1. *Let $f \in R(q)$. Then for real number γ ,*

$$|H_2^\gamma(1)| \leq 2 \max \left\{ \frac{1}{[3]_q}, \left| \frac{2\gamma}{[2]_q^2} - \frac{1}{[3]_q} \right| \right\}.$$

Proof. It is well known that if $f \in R(q)$, then

$$a_2 = \frac{c_1}{[2]_q}, \quad a_3 = \frac{c_2}{[3]_q} \quad \text{and} \quad a_4 = \frac{c_3}{[4]_q}. \quad (4)$$

Then, we can establish that

$$\begin{aligned} |H_2^\gamma(1)| &= |a_3 - \gamma a_2^2| = \left| \frac{c_2}{[3]_q} - \gamma \frac{c_1^2}{[2]_q^2} \right| \\ &= \frac{1}{[3]_q} |c_2 - vc_1^2| \end{aligned}$$

where $v = \frac{\gamma [3]_q}{[2]_q^2}$.

Next, according to Lemma 3, we write

$$|a_3 - \gamma a_2^2| \leq \begin{cases} \frac{2}{[3]_q} - \frac{4\gamma}{[2]_q^2}; & \gamma \leq 0 \\ \frac{2}{[3]_q}; & 0 \leq \gamma \leq \frac{[2]_q^2}{[3]_q} \\ \frac{4\gamma}{[2]_q^2} - \frac{2}{[3]_q}; & \gamma \geq \frac{[2]_q^2}{[3]_q} \end{cases}.$$

This evidently completes the proof of the above Theorem. \square

By setting $\gamma = 1$ in Theorem 1 we get the following consequence.

Corollary 1. *Let $f \in R(q)$. Then,*

$$|H_2(1)| \leq \frac{2}{[3]_q}. \quad (5)$$

Theorem 2. *Let $f \in R(q)$. Then for real number β ,*

$$|B_2^\beta(1)| \leq 2 \max \left\{ \frac{\beta}{[4]_q}, \left| \frac{2}{[2]_q [3]_q} - \frac{\beta}{[4]_q} \right| \right\}.$$

Proof. By using (4), we obtain

$$|B_2^\beta(1)| = |a_2 a_3 - \beta a_4| = \left| \frac{c_1 c_2}{[2]_q [3]_q} - \beta \frac{c_3}{[4]_q} \right|.$$

Now substituting for c_2 and c_3 using Lemma 2, we have

$$\begin{aligned} |B_2^\beta(1)| &= \left| \left(\frac{1}{2[2]_q [3]_q} - \frac{\beta}{4[4]_q} \right) c_1^3 + \left(\frac{c_1}{2[2]_q [3]_q} - \frac{\beta c_1}{2[4]_q} \right) (4 - c_1^2) x \right. \\ &\quad \left. + \frac{\beta}{4[4]_q} c_1 (4 - c_1^2) x^2 - \frac{\beta}{2[4]_q} (4 - c_1^2) (1 - |x|^2) z \right|. \end{aligned}$$

Using the facts $|z| < 1$ and $|pa + pb| \leq |p||a| + |q||b|$; $(c + a) \geq (c - a)$ where p, q, a, b are real numbers, and also letting $|c_1| = c \in [0, 2]$, for $\rho = |x| \leq 1$, we obtain

$$\begin{aligned} |B_2^\beta(1)| &\leq \frac{1}{2} \left| \frac{1}{[2]_q [3]_q} - \frac{\beta}{2[4]_q} \right| c^3 + \frac{1}{2} \left| \frac{1}{[2]_q [3]_q} - \frac{\beta}{[4]_q} \right| (4 - c^2) c\rho \\ &\quad + \frac{\beta}{4[4]_q} c (4 - c^2) \rho^2 + \frac{\beta}{2[4]_q} (4 - c^2) (1 - \rho^2). \end{aligned} \quad (6)$$

First observe that if $\beta < \frac{[4]_q}{[2]_q [3]_q}$, then (6) yields

$$\begin{aligned} |B_2^\beta(1)| &\leq \frac{1}{2} \left(\frac{1}{[2]_q [3]_q} - \frac{\beta}{2[4]_q} \right) c^3 + \frac{1}{2} \left(\frac{1}{[2]_q [3]_q} - \frac{\beta}{[4]_q} \right) (4 - c^2) c\rho \\ &\quad + \frac{\beta}{4[4]_q} (4 - c^2) (c - 2) \rho^2 + \frac{\beta}{2[4]_q} (4 - c^2) \\ &= F(\rho). \end{aligned} \quad (7)$$

Since $\beta < \frac{[4]_q}{[2]_q [3]_q}$, the extreme point of $F(\rho)$ is $\rho = \frac{c}{2-c} \left(\frac{[4]_q}{[2]_q [3]_q \beta} - 1 \right)$ (with $c \in [0, 2]$ in this case since $\rho \in [0, 1]$). Now let

$$\begin{aligned} G_1(c) = F(0) &= \frac{1}{2} \left(\frac{1}{[2]_q [3]_q} - \frac{\beta}{2[4]_q} \right) c^3 - \frac{\beta}{2[4]_q} c^2 + \frac{2\beta}{[4]_q}, \\ G_2(c) = F(1) &= \left(\frac{2}{[2]_q [3]_q} - \frac{\beta}{[4]_q} \right) c \end{aligned}$$

and

$$G_3(c) = F\left(\frac{c}{2-c}\left(\frac{[4]_q}{[2]_q[3]_q\beta} - 1\right)\right) = \frac{[4]_q}{4[2]_q^2[3]_q^2\beta}c^3 + \left(\frac{[4]_q}{2[2]_q[3]_q^2\beta} - \frac{1}{[2]_q[3]_q}\right)c^2 + \frac{2\beta}{[4]_q}.$$

By elementary calculus, we find that $G_1(c) \leq G_2(c) \leq G_2(2) = \frac{4}{[2]_q[3]_q} - \frac{2\beta}{[4]_q}$ while $G_3(c) \leq G_3(2) = \frac{4[4]_q}{[2]_q^2[3]_q^2\beta} - \frac{4}{[2]_q[3]_q} + \frac{2\beta}{[4]_q}$. Hence for $\beta < \frac{[4]_q}{[2]_q[3]_q}$ the maximum of the functional is $\frac{4}{[2]_q[3]_q} - \frac{2\beta}{[4]_q}$. That is,

$$\left|B_2^\beta(1)\right| \leq \frac{4}{[2]_q[3]_q} - \frac{2\beta}{[4]_q} \quad \text{for } \beta < \frac{[4]_q}{[2]_q[3]_q}.$$

Next we consider the case $\frac{[4]_q}{[2]_q[3]_q} < \beta < \frac{2[4]_q}{[2]_q[3]_q}$. Then we have

$$\begin{aligned} \left|B_2^\beta(1)\right| &\leq \frac{1}{2}\left(\frac{1}{[2]_q[3]_q} - \frac{\beta}{2[4]_q}\right)c^3 + \frac{1}{2}\left(\frac{\beta}{[4]_q} - \frac{1}{[2]_q[3]_q}\right)(4-c^2)c\rho \\ &\quad + \frac{\beta}{4[4]_q}(4-c^2)(c-2)\rho^2 + \frac{\beta}{2[4]_q}(4-c^2) \\ &= F(\rho). \end{aligned}$$

Since $\frac{[4]_q}{[2]_q[3]_q} < \beta < \frac{2[4]_q}{[2]_q[3]_q}$, the extreme point of $F(\rho)$ is $\rho = \frac{c}{2-c}\left(1 - \frac{[4]_q}{[2]_q[3]_q\beta}\right)$ (with $c \in [0, 2]$ in this case since $\rho \in [0, 1]$). Now let

$$G_1(c) = F(0) = \frac{1}{2}\left(\frac{1}{[2]_q[3]_q} - \frac{\beta}{2[4]_q}\right)c^3 - \frac{\beta}{2[4]_q}c^2 + \frac{2\beta}{[4]_q},$$

$$G_2(c) = F(1) = \left(\frac{1}{[2]_q[3]_q} - \frac{\beta}{[4]_q}\right)c^3 + \left(\frac{3\beta}{[4]_q} - \frac{2}{[2]_q[3]_q}\right)c$$

and

$$G_3(c) = F\left(\frac{c}{2-c}\left(1 - \frac{[4]_q}{[2]_q[3]_q\beta}\right)\right) = \frac{[4]_q}{4[2]_q[3]_q\beta}c^3 + \left(\frac{[4]_q}{2[2]_q[3]_q\beta} - \frac{1}{[2]_q[3]_q}\right)c^2 + \frac{2\beta}{[4]_q}.$$

Hence for $\frac{[4]_q}{[2]_q[3]_q} < \beta < \frac{2[4]_q}{[2]_q[3]_q}$, the maximum of the functional is $\frac{2\beta}{[4]_q}$. That is,

$$\left|B_2^\beta(1)\right| \leq \frac{2\beta}{[4]_q} \quad \text{for } \frac{[4]_q}{[2]_q[3]_q} < \beta < \frac{2[4]_q}{[2]_q[3]_q}.$$

Finally, if $\beta > \frac{2[4]_q}{[2]_q[3]_q}$ we write (7) as

$$\begin{aligned} \left|B_2^\beta(1)\right| &\leq \left(\frac{\beta}{4[4]_q} - \frac{1}{2[2]_q[3]_q}\right)c^3 + \left(\frac{\beta}{[4]_q} - \frac{1}{[2]_q[3]_q}\right)\frac{c}{2}(4-c^2)\rho \\ &\quad + \frac{\beta(c-2)}{4[4]_q}(4-c^2)\rho^2 + \frac{\beta}{2[4]_q}(4-c^2) \\ &= F(\rho). \end{aligned}$$

Since $\beta > \frac{2[4]_q}{[2]_q[3]_q}$, the extreme point of $F(\rho)$ is $\rho = \frac{c}{c-2} \left(\frac{[4]_q}{[2]_q[3]_q\beta} - 1 \right)$ (with $c \in [0, 2]$ in this case since $\rho \in [0, 1]$). Next, let

$$G_1(c) = F(0) = \left(\frac{\beta}{4[4]_q} - \frac{1}{2[2]_q[3]_q} \right) c^3 - \frac{\beta}{2[4]_q} c^2 + \frac{2\beta}{[4]_q},$$

$$\begin{aligned} G_2(c) &= F(1) = \left(\frac{\beta}{4[4]_q} - \frac{1}{2[2]_q[3]_q} \right) c^3 + \left(\frac{\beta}{[4]_q} - \frac{1}{[2]_q[3]_q} \right) \frac{c}{2} (4 - c^2) \\ &\quad + \frac{\beta(c-2)}{4[4]_q} (4 - c^2) + \frac{\beta}{2[4]_q} (4 - c^2) \end{aligned}$$

and

$$\begin{aligned} G_3(c) &= F\left(\frac{c}{c-2} \left(\frac{[4]_q}{[2]_q[3]_q\beta} - 1 \right) \right) \\ &= \left(\frac{[4]_q}{4[2]_q^2[3]_q^2\beta} - \frac{1}{[2]_q[3]_q} + \frac{\beta}{2[4]_q} \right) c^3 + \left(\frac{[4]_q}{2[2]_q^2[3]_q^2\beta} - \frac{1}{[2]_q[3]_q} \right) c^2 + \frac{2\beta}{[4]_q}. \end{aligned}$$

Hence for $\beta > \frac{2[4]_q}{[2]_q[3]_q}$, the maximum of the functional is $\frac{2\beta}{[4]_q} - \frac{4}{[2]_q[3]_q}$. That is,

$$\left| B_2^\beta(1) \right| \leq \frac{2\beta}{[4]_q} - \frac{4}{[2]_q[3]_q} \text{ for } \beta > \frac{2[4]_q}{[2]_q[3]_q}.$$

Hence we have

$$\left| B_2^\beta(1) \right| \leq \begin{cases} \frac{4}{[2]_q[3]_q} - \frac{2\beta}{[4]_q}; & \beta < \frac{[4]_q}{[2]_q[3]_q} \\ \frac{2\beta}{[4]_q}; & \frac{[4]_q}{[2]_q[3]_q} < \beta < \frac{2[4]_q}{[2]_q[3]_q} \\ \frac{2\beta}{[4]_q} - \frac{4}{[2]_q[3]_q}; & \beta > \frac{2[4]_q}{[2]_q[3]_q} \end{cases}.$$

This completes the proof. \square

By setting $\beta = 1$ in Theorem 2 we get the following consequence.

Corollary 2. *Let $f \in R(q)$. Then,*

$$\left| B_2(1) \right| \leq \frac{2}{[4]_q}. \quad (8)$$

Theorem 3. *Let $f \in R(q)$. Then*

$$\left| H_2(2) \right| \leq \frac{4}{[3]_q^2}.$$

Proof. Following from (4), we have

$$\left| H_2(2) \right| = \left| a_2 a_4 - a_3^2 \right| = \left| \frac{c_1 c_3}{[2]_q [4]_q} - \frac{c_2^2}{[3]_q^2} \right|. \quad (9)$$

Next, according to Lemma 2 and (9), we obtain

$$|H_2(2)| = \frac{1}{[2]_q [4]_q} \left| \frac{1}{4} \left(1 - \frac{[2]_q [4]_q}{[3]_q^2} \right) c_1^4 + \left(1 - \frac{[2]_q [4]_q}{[3]_q^2} \right) \frac{c_1^2 (4 - c_1^2) x}{2} \right. \\ \left. + \frac{c_1 (1 - |x|^2) (4 - c_1^2) z}{2} - \frac{c_1^2 (4 - c_1^2) x^2}{4} - \frac{[2]_q [4]_q (4 - c_1^2)^2 x^2}{[3]_q^2 \cdot 4} \right|.$$

Letting $|c_1| = c$, assuming without restriction that $c \in [0, 2]$ and setting $\rho = |x| \leq 1$, we have

$$|H_2(2)| \leq \frac{1}{[2]_q [4]_q} \left\{ \frac{1}{4} \left(1 - \frac{[2]_q [4]_q}{[3]_q^2} \right) c^4 + \frac{c(4-c^2)}{2} + \left(1 - \frac{[2]_q [4]_q}{[3]_q^2} \right) \frac{c^2(4-c^2)\rho}{2} \right. \\ \left. + \frac{c(c-2)(4-c^2)\rho^2}{4} + \frac{[2]_q [4]_q (4-c^2)^2 \rho^2}{[3]_q^2 \cdot 4} \right\} \\ = F(c, \rho).$$

In the following, we obtain

$$\frac{\partial F}{\partial \rho} = \frac{1}{[2]_q [4]_q} \left\{ \left(1 - \frac{[2]_q [4]_q}{[3]_q^2} \right) \frac{c^2(4-c^2)}{2} + \frac{c(c-2)(4-c^2)\rho}{2} + \frac{[2]_q [4]_q (4-c^2)^2 \rho}{[3]_q^2} \right\},$$

that is, $F(c, \rho)$ is increasing on $[0, 1]$ so that $F(c, \rho) \leq F(c, 1)$. Thus we have

$$F(c, 1) = \frac{1}{[2]_q [4]_q} \left\{ -\frac{1}{2} \left(1 - \frac{[2]_q [4]_q}{[3]_q^2} \right) c^4 + \left(3 - \frac{4[2]_q [4]_q}{[3]_q^2} \right) c^2 + \frac{4[2]_q [4]_q}{[3]_q^2} \right\} \\ = G(c). \quad (10)$$

Then, by elementary calculation using (10), we have

$$G'(c) = \frac{2c}{[2]_q [4]_q} \left[\left(3 - \frac{4[2]_q [4]_q}{[3]_q^2} \right) - \left(1 - \frac{[2]_q [4]_q}{[3]_q^2} \right) c^2 \right] < 0.$$

Since $G(c) \leq G(0)$ for $c \in [0, 2]$, we get $\max G(c) = G(0)$. \square

From (5), (8), Lemma 1 and Theorem 3, we get the following Theorem.

Theorem 4. *Let $f(z)$ given by (1) be in the class $R(q)$, then*

$$|H_3(1)| \leq \frac{8}{[3]_q^3} + \frac{4}{[4]_q^2} + \frac{4}{[3]_q [5]_q}.$$

REFERENCES

- [1] Aydođan, M., Kahramaner, Y., Polatođlu, Y., *Close-to-Convex Functions Defined by Fractional Operator*, Applied Mathematical Sciences, **7** (56) (2013) 2769 – 2775.
- [2] Babalola, K.O., *On coefficient determinants with Fekete-Szegő parameter*, Applied Mathematics e-Notes, **13** (2013) 92–99.
- [3] Gasper, G., Rahman, M., *Basic Hypergeometric Series* (with a Foreword by Richard Askey), Encyclopedia of Mathematics and Its Applications, Vol. 35, Cambridge University Press, Cambridge, New York, Port Chester, Melbourne and Sydney, 1990; Second edition, Encyclopedia of Mathematics and Its Applications, Vol. 96, Cambridge University Press, Cambridge, London and New York, 2004.
- [4] Grenander, U., Szegő, G., *Toeplitz forms and their applications*, California Monographs in Mathematical Sciences, Univ. California Press, Berkeley, 1958.
- [5] Jackson, F. H., *On q -functions and a certain difference operator*, Transactions of the Royal Society of Edinburgh, **46** (1908), 253–281.

- [6] Murugusundaramoorthy, G., Janani, T., *Meromorphic parabolic starlike functions associated with q -hypergeometric series*, ISRN Mathematical Analysis, (2014), Article ID 923607, 9 pages.
- [7] Ma, M., Minda, D., *A unified treatment of some special classes of univalent functions*, in: Proceedings of the Conference on Complex Analysis, Z. Li, F. Ren, L. Yang, and S. Zhan (Eds.), Int. Press (1994) 157–169.
- [8] MacGregor, T.H., *Functions whose derivative has a positive real part*, Trans. Amer. Math. Soc., **104** (1962), 532–537.
- [9] Mohammed, A., Darus, M., *A generalized operator involving the q -hypergeometric function*, Mat. Vesnik, **65** (4) (2013). 454–465.
- [10] Noonan, J.W., Thomas, D.K., *On the second Hankel determinant of areally mean p -valent functions*, Transactions of the Americal Mathematical Society, **223** (2) (1976) 337–346.
- [11] Polatoğlu, Y., *Growth and distortion theorems for generalized q -starlike functions*, Advances in Mathematics: Scientific Journal. **5** (1) (2016), 7–12.
- [12] Pommerenke, C., *Univalent Functions*, Vandenhoeck & Ruprecht, Göttingen, 1975.
- [13] Purohit, S.D., Raina, R.K., *Fractional q -calculus and certain subclass of univalent analytic functions*, Mathematica, **55** (1) (2013), 62–74.
- [14] Srivastava, H.M., *Univalent functions, fractional calculus, and associated generalized hypergeometric functions*, in Univalent Functions; Fractional Calculus; and Their Applications (H. M. Srivastava and S. Owa, Editors), Halsted Press (Ellis Horwood Limited, Chichester), John Wiley and Sons, New York, Chichester, Brisbane and Toronto, 1989.
- [15] Özkan Uçar, H. E., *Coefficient inequalities for q -starlike functions*, Appl. Math. Comp., **276** (2016), 122–126.

ULUDAG UNIVERSITY
DEPARTMENT OF MATHEMATICS
16059, BURSA, TURKEY
E-mail address: karahuseyinzeliha@gmail.com

ULUDAG UNIVERSITY
DEPARTMENT OF MATHEMATICS
16059, BURSA, TURKEY
E-mail address: sahsene@uludag.edu.tr

ULUDAG UNIVERSITY
DEPARTMENT OF MATHEMATICS
16059, BURSA, TURKEY
E-mail address: syalcin@uludag.edu.tr